i3-Lesson 35
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1. Usean area model to represent the following expression. Then, record the partial products vertically and

{ write 40 as the width and decompose
27 as 20 and 7 for the length.

solve,
40 x 27

24 7

40 < 20 40 x7
4 tens X 2 tens 4-tens X 7 gnes
et 4

. 8 hundreds 28 tens

800 280

2. Visualize the area model, and solve the following expression numerically.

! | solve for each of the smaller areas. J
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| record the partial products. The
partial products have the same value as
the areas of the smaller rectangles.

30 % 66
6 6 To solve, 1 visualize the area model. | see the width as
x 3 0 30 and the length as 60 + 6, 3 tens X 6 anes = 18tens.
3 tens X 6 tens = 18 hundreds. | record the partial
i 8 8 products. | find thetotal. 180 + 1,800 = 1,980.
+ 1, 8 0 0
1L, 9 8 ¢
Lesson 35; Multiply two-digit multiples of 10 by two-digit numbars using thi area

maodel.
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